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Use of place value counters to add HTO + 1O, HTO+ | Chidren (o represent the counters n a place value char,
HTO etc. When there are 10 ones in the Is column-we | circling when they make an exchange. 243
exchange for 1ten, when there are 10 tens in the 105
column- we exchange for 1 hundred,

+368

000, | 000 611
88“, 11

to solve 21+ 34

‘Word problems:
Inyear 3, there are 21 chidhenandin | 21 B
year 4, there are 34 chidren i
How many children in totel? +34
>+
° ° 21+34-55. Prove it
21434
21 34 Calculate the sum of twenty-one

and thirty-four.
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Calculation policy: Subtraction

Key language: take away, less than, the difference, subtract, minus, fewer, decrease.

Concrete

Physically taking away and removing objects from a whole
(ten frames, Numicon, cubes and other tems such as
beanbags could be used)

4-321

000 -@

Pictorial

Children to draw the concrete resources they are using
and cross out the correct amount. The bar model can
also be used.

B ®DO

‘Counting back (Using nurmber Ines or nurmber racks)
children start with 6 and count back 2.

Chiden o represent what ey 50 peoraly o5
aroim

) LY
(3]s ¢T3

Children to represent the calculation
on a number line or number track and
show their jumps. Encourage chidren
1o use an empty number line

P
01234567890
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Finding the difference (using cubes, Numicon or Cuisenaire
rods, other objects can also be used).

Calculate the difference between 8 and 5.

‘Children to draw the cubes/other concrete objects which
they have used or use the bar model to illustrate what
they need to calculate

0000 QO0O
ogoo O

Find the difference between 8 and 5.

8- 5, the difference s [ ]

Children to explore why
9-6-8-5=7- 4have the same
difference.

Making 10 Using ten frames.
“-5

3‘:‘

[CC|
[CCH
(elo] ~

!.'!_!._0

‘Children to present the ten frame pictorially and discuss
what they did to make 10.

Children 1o show how they can make
10 by partitioning the subtrahend.

14-/5\=9
4 1

14-4=10
10-1=9

Column method using base 10.
487

&

Children to represent the base 10 pictorially

Column method or children could
count back 7.

4 8
= 17

L[
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Colurmn method using base 10 and having 1o exchange.
4-26

the exchange.
1s

{

Represent the base 10 pictoraly, remembering o show

Formal column method, Children
must understend that when they have
exchanged the 10 they still have 41
because 41=30 + 11

_KN
26
1S

Column method using place value counters.
234 - 88

391

186

Raj spent £391, Timmy spent £186.
How much more did Raj spend?

Calculate the difference between 391 and
186.

Represent the place value counters pictorially;
remenbering to show what has been exchanged.

391
-186

What i 186 less than 3917

Formal colom method Children must
understand whet has happened when
they have crossed out digts.

234

Missing digit calculations

3 9]
-00-

Oos
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Calculation policy: Multiplication

Key language: double, times, multiplied by, the product of, groups of, lots of, equal groups.

Concrete
;epr-ttd |grouping/repeated addition

4444
There are 3 equal groups, with 4 n each group.

)

Pictorial
Chicten o represet th practcl esouces 2
s nd s b1 o

Sxa-12

4rava=n2

‘Number linesto show repeated groups-
3x4

Cuisenaire rods can be used toc.

Represent s petorally slongside a number Ine eg:

“Rbsiract umber e showing tree Jurmps
of four.

3xa=12
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Use arrays o flusrate commutativy couriters and oiher
obyects can also be used,

24545x2
2lsols  Slsol2

ChIGren 16 represent the arrays pitarally.

Q0000
g 00000

Thldren 1o b2 3ble o vse an array lowie s
range of calculations eg.

10-2x5
5x2-10
24242+2+2=10
10-5+5

Pariion to muliply Using Numicon, base 10 or Cusenare
rods.
axts

Bofholl o, R
o

ChiGren 1o represent the concrete manpulatves
pictorially

Chldren to be encowragad 1o show e sieps
they have taken.

Anumber ne can lso be used

Formal column method vl place value courters
(base 10 can also be used) 3x23

Children to record what 5 they are GO
1o show understanding,
3x25  3x20-60
AN P ]
203 60+9-69
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Formal column method i place value courters
6x23
005

“Chigren 16 represent the counters/base 10, pctorially
g the image below.

Formalwriten method

6x23=

o get 744 children have solved 6 x124.
o get 2480 they have solved 20 x 124,

Ma had to swim 23 lengihs, 6 tmes
aweek.

When chldren start 1o ruliply 30 » 30 and 40 » 20 et they should be confident wit the abstract

Find the product of 6 and 23

E ER RN N E How many lengths did she swimin | 6x23 =
L one week?
With the counters, prove that 6 x 23 6 23
138 x23 x6

What s he calculation?
What s the product?
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Calculation policy: Division

Key language: shar

Concrete
ot e gt st

Faall

oup, divide, divided by, half.

Pictorial

Represent th shaning picorialy.

> |

i

Abstract

3 3

Chidren should also be encouraged o use.
thei 2 times tables focts.

Repeated subiraction using Cusenare 1ods above 3 rler
6.2

2 2 2

3groups of 2

“Chiron 5 represert repeated subtraction
pictorialy.

“Absiract rmber e (o reprasent e equal
roups that have been subtracted

i
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2910 Wi remainders uaing ollpop STk Cusanare
rods, above a ruler can also be used
13-4

Use of lollpop sicks to form wholes- souares are made.
because we are dividng by 4

000

There are 3 whale squares, it 1 left over.

Chidren (o represent e ollpop sicks picoriall.

There are 3 whole sauares, wih 1 ft over.

T2 Sremander T
Chidren should be encouraged to use ther
times table facts; hey could lso represent
repeated additon on a number lne.

3 roups of 4, with 1 eft over

L)

‘Sharing using place value counters.
12-3-14

Chldren (o represent he place value counters|
pictorially.

i

"'E

Chidren 1o be able 1o make sense of e
place value counters and wrte calculations to
show the process.

a2-3
42-30+12
30-3-10
2-3.4
1044214
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‘Short division Using place value courters © g1o0p.
B15+5.

1. Make 615 with place value counters.
2 How many groups of 5 hundreds can you make with &
hundred counters?

3 Exchange T hundred for 10 tens.

4 How many groups of 5 tens can you make with Tl ten
counters?

5 Exchange 1 ten for 10 ones.

6 How many groups of 5 ones can you make with 15 ones?

Represent 1 place valus counters picorially.

Is

Chidren 1o the calcuation Using the short
drison scaffold

51615

Tong dvision Using place value counters
2542412

1000s | 100s. 1]

with T hundred,

00 | 105
(B8 [g005/5505/6600 | Wecon' growp 2 thausands ino
goups of 12 50 wil exchange them.

We can group 24 huncreds ﬂL
into groups of 12 which leaves 122344

2
T
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After exchanging the hundred, we  12[754%
have 14 tens. We can gioup 12 tens
into a group of 12, which leaves 2 tens. 14
1
I
0212
After exchanging the 2 tens,we. 120258
have 24 ones. We can group 24 ones 20
into 2 group of 2, which leaves no remainder. 13
5
3
l

Using the part whole model below,how | | have £615 and share f equally What s the calculaton?
canyou dvide 615 by Swihoutusing | beveen 5 bank accouns Howmuch | 5 (G 7 Whatis the answer?
shortdvision? wil be in each account?

615 pupis need 1o be put nto §.
‘groups How many wil be i each

@ o
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Calculation policy: Addition

Key language: sum, total, parts and wholes, plus, add, altogether, more, is equal to'is the same as’

Concrete

‘Combining two parts to make a whole (use ofher
resources (oo eg eggs, shell, teddy bears, cars).

060
[ L)

00010“‘

Pictorial

Chidren to represent the cubes using dots or
could put each part on a part whole model too.

Abstract
ar

Four is a part, 3 is a part and the whole
is seven.

‘Counting on using nurmber lives Using cubes or Numicon

9906

01236567830

oo

5 G I 5 6

]

"Abar model which encourages the children to count on,
rather than count al.

The abstract nurber line:
What is 2 more than 47
Whatis the sum of 2 and 47
What s the total of 4 and 27
442

e 5 &
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Regrouping to make 10; using ten frames and
counters/cubes or using Numicon.

6+5
g oy
P!__!_O._C 9]

Children to draw the ten frame and counters/cubes,

[0®®] [][
@[]

HH

Chidren to develop an understanding
of equality eg.

6+0="1
6+5=5+0
6+5=0+4

TO + O using base 10. Continue (0 develop understanding
of partitioning and place value.
4148

S

Children 1o represent the base 10 eg. s for tens and
dot/crosses for ones.

8
148-9
° 40+9-49

Ol0) 41
3

49

TO +TO using base 10. Continue to develop
understanding of partitioning and place value.

36425
[ s |

7

Chidlren to represent the base 10 in a place value chart

10s | Is

Tooking for ways to make 10.

36 +25= 3042050
. 5+5=10
/ \ 50+10+1=61
1 5 36
Formal method:  +25
61

T
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